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) 10,001
< 1,999
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Al 4,039
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Al 4,039
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= 1,731
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308 XXM SOIA 661,640 506,000 155,640
= 330,820
=S 132,328
Al 198,492
183 SIS B XA AIE 661,640 506,000 155,640
OJIN7A & ZHER K& 661,640
= 330,820
= 132,328
Al 198,492
SR0IFAEAL FA2 2,570 2,500 70
Jl 2,05
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201 er=23y| 2,570 2,500 70
Jl 2,05
= 257
Al 257
01 At2teltl 2,570 2,500 70
OgFROAABAL FRI2C 2,570
) 2,05
= 257
Al 257
Sl2g0i=sd Nt =0 B8l X2 6.610 8,690 22,080
Jl 5,288
< 661
Al 661
308 XXM SOIA 6.610 8,690 22,080
Il 5,288
== 661
Al 661
13 S [2S0He 4 A AS A 6.610 8,690 22,080
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Jl 12,000
=S 2,400
Al 9,600
307 21201 & 24,000 24,000 0
Jl 12,000
= 2,400
Al 9,600
012z & 2=H| 24,000 24,000 0
OYAFHLM(SE) 24,000
Il 12,000
= 2,400
Al 9,600
HASE XA (HEAY) 587,000 587,000 0
=S 440,250
Al 146,750
307 21201 & 587,000 587,000 0
== 440,250
Al 146,750
0122 & 3=l 587,000 587,000 0
OHYRE Al=tl X2 587,000
& 440,250
Al 146,750
FAEME JaE4 ol=d] A& 3,000 2,500 500
) 1,500
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SHEUALOIE A K atotatel 58,300 48,000 10,300
Il 29,150
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0122 & 3=l 58,300 48,000 10,300
OHELEUAIOIY HAF & B0t 58,300
Jl 29,180
=S 14,575
Al 14,575
Ol=0t & A& L0400t 2= X 20,000 25,000 25,000
7l 10,000
= 5,000
Al 5,000
307 @I2t01 & 20,000 25,000 /5,000
Il 10,000
= 5,000
Al 5,000
012z & 2=Hl 20,000 25,000 25,000
OD|=0t & A -0l&0 2/ZH| X 20,000
Jl 10,000
= 5,000
Al 5,000
HE R A 6,400 4,000 2,400
) 3,200
= 1,600
Al 1,600
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Jl 3,200
[ 1,600
Al 1,600
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OXHYOF HH &I 6,400
Il 3,200
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